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QUESTION 1

The log files used to verify that a custom application is being properly monitored are located in which directory?
A. Ivar/lVRTSvcs/log/

B. /var/VRTSvcs/log/GroupA/

C. Ivar/lVRTSvcs/agent/log/

D. Ivar/opt/VRTSvcs/log/agent/

Correct Answer: A

QUESTION 2

Which three are valid service group types? (Select three.)
A. Cascading

B. Failover

C. Parallel

D. Series

E. Hybrid

Correct Answer: ACD

QUESTION 3

During a failover, what attribute determines where the service group will go online?
A. Critical

B. FailOverPolicy

C. AutoFailOverPolicy

D. TakeOverPolicy

Correct Answer: B

QUESTION 4

Click on the Exhibit Button.
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All service groups have FailOverPolicy=Load and are allowed to run on all of the systems. What happens if Svr4 faults?

A. G4 fails over to Svrl and G5 remains offline everywhere.
B. G4 fails over to Svrl and G5 fails over to Svr3.
C. G4 fails over to Svr3 and G5 fails over to Svr2.
D. G4 fails over to Svr3 and G5 remains offline everywhere.

Correct Answer: B

QUESTION 5

What is the default VCS Web console service group?
A. WebService

B. WWWService

C. ClusterService

D. ClusterWeb

Correct Answer: C

QUESTION 6

What are two requirements for configuring 1/0 Fencing on supported storage arrays? (Select two.)
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A. Cluster File System Option enabled

B. LUNs with the PGR bit enabled

C. a minimum of two private heartbeat connections
D. an odd number of LUNSs in the data disk group
E. Disk Group version 110 or higher

Correct Answer: BE

QUESTION 7

Which two resource Type attributes can be set to tune Veritas Cluster Server failover characteristics? (Select two.)
A. Critical

B. RestartLimit

C. ToleranceLimit

D. OfflineTimeout

E. OfflineMonitorinterval

Correct Answer: BC

QUESTION 8

What does freezing a service group prevent?

A. VCS notification of faults in the service group

B. Monitoring of VCS resources in the service group

C. Online and offline operations in the service group

D. Modification of resource attributes in the service group

Correct Answer: C

QUESTION 9

A new resource named mylP is added to the service group hamed GroupA. GroupA is currently online on SystemA.
Which command must be run for the agent to start monitoring the mylP resource?

A. hares -probe mylP -sys SystemA

B. hares -online mylP -sys SystemA
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C. hares -modify myIP Enabled 1
D. hares -add IP myIP Enabled 1

Correct Answer: C

QUESTION 10

Two Process resources named ResourceA and ResourceB are configured in service group SG1. ResourceA is
configured as a child to ResourceB and the Critical attribute of ResourceB is modified from the default value. What is
the expected result of shutting down the ResourceB process outside of Veritas Cluster Server?

A. Both ResourceA and ResourceB are faulted.

B. ResourceA is online and ResourceB is restarted.

C. ResourceB is faulted and the service group fails over.

D. ResourceB is faulted and ResourceA is online.

Correct Answer: D

QUESTION 11

An extra email address was added to the Veritas Cluster Server notifier resource. All but one user is receiving
notifications. How can this problem be solved?

A. ask the user that is not receiving the notifications to refresh the mailbox
B. restart the notifier resource

C. restart the notifier daemon

D. restart the HAD daemon

Correct Answer: B

QUESTION 12

Which system is unsuitable for use in a multinode cluster? System S1: one local drive three network interfaces access
to shared storage multiple processors two HBAs System S2: two mirrored local drives

three network interfaces access to shared storage a single processor two HBAs System S3: two mirrored local drives
three network interfaces access to shared storage multiple processors one HBA System S4: two mirrored local drives
three network interfaces multiple processors two HBAs

A. System S1

B. System S2

C. System S3
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D. System S4

Correct Answer: D

QUESTION 13

What is the effect of configuring the public NIC as a low priority heartbeat link?
A. Provides more protection from split brain

B. Enables the heartbeats to be routed

C. Prevents jeopardy if all private heartbeat links fail

D. Enables the heartbeats to be used by other clusters

Correct Answer: A

QUESTION 14

Which two standard Veritas Cluster Server resource types can determine if an application has unexpectedly exited?
(Select two.)

A. Process

B. FileOnOff
C. NotifierMngr
D. Application
E. Phantom

Correct Answer: AD

QUESTION 15

What is the maximum number of levels a group dependency tree can have?
A. Two

B. Three

C. Four

D. Five

Correct Answer: D
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